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E233E &0 4 : Drawing Fractals by programming
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1. from turtle import *

2 def f£(t, length, depth):

3 if depth == 0:

4. t.forward(length)

5. return

6 else:

7 f(t, length/3, depth-1)

8. t. left (60)

9. f(t, length/3, depth-1)

10. t. right (120)

11. f(t, length/3, depth-1)

12. t.left (60)

13. f(t, length/3, depth-1)

14. canvas = Screen|() # Set up the window and its attributes
15. koch = Turtle() # create koch

16. f£(koch, 200, ) # Call the function to draw the koch Curve

17. canvas.exitonclick()
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— - #i2 Koch Curve

HELE

E—T E i

VARSI

def f£(t, length, depth):

FEYATT HEFE
t.forward(length)
E/RTT
f(t, length/3, depth-1) R
t.left (60)
f(t, length/3, depth-1)
t.right (120)
f(t, length/3, depth-1)
t.left (60)
f(t, length/3, depth-1)
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from turtle import *

def fern(t,

if size < 5

size) :

return

t.forward (size/25)

t.left (80)
fern (t,
t.right (82)

size*.3)

t.forward (size/25)

t.right (80)
fern(t,
t.left (78)
fern(t,
t.left (2)

t.back(size/25)
t.left (2)

t.back(size/25)

size*.3)

size*.9)

canvas = Screen ()
mytree = Turtle()
mytree.left (90)

fern (mytree, 305)

canvas.exitonclick ()

# Set up the window

# create mytree

and 1ts attributes

# Call the function to draw the fern
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1. from turtle import *

2.

3. def tree(t, order, len):
4.

5. t.forward (len)

6. t.left (30)

7. t.forward (len)

8. t.backward (len)

9. t.right (30)

10. t.right (30)

11. t.forward (len)
12. t.backward (len)
13. t.left (30)

14. t.backward (len)
15. return

16.

17 t.forward (len)

18 t.left (30)

19 tree(t, order-1, len*.75)
20. t.right (30)

21. t.right (45)

22. tree(t, order-1, len*.75)
23. t.left (45)

24 t.backward (len)
25.

26. canvas = Screen|()
27.mt= Turtle ()

28 . mt.left (90)

29. mt.hideturtle ()

30. tree(mt, 9, 50)

31. canvas.exitonclick()
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tree 12 100

change “LT”

n RT n

change LT angle and RT angle

change
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